Felet.

)



@ AB = BC
VY VR N
© 5.0ptAC = 5.0ptAB + 5.0ptBC

© 5.00t24.88PtABe o 247ke) 271 90° oIt
® AAOC = 2AA0B

=
=



S JAOB 2 3 8] 27} AZ T 8 o 24
@2 Ag BT D2

@ 473 AOB 9] Yol 3uja Z7}35i),
@ 5.0ptAB = 3w} =73k,

® OA L 3u] Z7}ah.

@ OA = OB o]t}

® AA 49 Yol adj=2o]tt.



o3 289 ¥ 0 o tiste] o3 Otel] €92 =5 &A= 4
789

(1) 5. OptAC = 0b. OptBC

(2) 5.0ptDE = 05.0ptDF

Mo




5. ts 1" ¥ 0 oA LAOB = «COD ¢ o, A D

o 84 g ALY

@® AB=CD ‘
- P
@ 5.0ptAB = 5.0ptCD B ¢

O ~
® 5.0ptAD = 5.0ptBC

@ (FAZE AOB 2 Hol)=(FA& coD 9
wol)

3 AAOB = ACOD



6.

ohs 279 O o Hiet o2 4 ¢

B/ \¢
O

G2
rlo
N
rlo

)

@ 5.0ptBC 9} ¥H2 OB, OC 2 Sl £FL HaZo|c},
@ 99 F4 0 & Avh= @2 A 5ol o

® BC 9} 5.0ptBC & S2#el £3.e &xo|d},

i
N
1
30,
)



7. = 2™lA x 9 g2?

@D 14em @ 19ecm ® 20em @ 21em G 24cem



8. T 2™ o 277

@ 75° @ 80° ® 85°
@ 90° B) 95°




9. o= I2"NA «x o 277

P,

“~10cnmx ”

@D 20° ® 25° ® 30° @ 40° ® 45°



o Jalox AC— B0 ol o 19
10. oS 23 A 5.0ptAC = 45.0ptBC ¥ W] /BOC 2] 7]&9

C

A - B

@D 36° @ 40° A 50° @ 144° 3 150°



Yol A 22 Szl digt o9 Zol= &t
oA 2 Sz tigt @9 dol& 2t
ollA FHZre] A2719F 29 Aol vt
oA S4Hze] 2719 de

Qo A ZA7+o] 7]} B



12.

o3 193} Zol
A0 011*11
/AOB = 5zCOD o wj, o}

1=m?

O (FAEOCD 9 Hol) =2x ( FAHEZ0AB ¢ HoJ)
S~ 1 N

@ 5.0ptAB = 5.0ptCD

® AB//CD

@ ACOD = 2AA0B

® AB = %CT



N N N
13. o3 289 ¥ O oA 5.0ptAB : 5.0ptBC : 5.0ptCA =3 :4:5 7}
HEE A AB,CEHS W, LAOB 9] 271E FotH?

A

@D 30° @ 45° 3 60° @ 90° 3B 120°



14. o= 299 ¥ O ol F2& AOB 9 Wol7F 24em? o] 2L
COD 9] dol7} 48cm® & W, x o] gh& F-5Fefet.

1=
T

A

i



15. the % & Qo4 479 2717} 2 w7} 2 uf, 71 gto] 2 W7} Hle
Ag g ke
SEEED A 70|

© FAEL Hol

=

-

YR
=%



